MATH 2313 Test 4

Students are responsible for reserving a seat for the test using Schedule Exams tab on
CASA BEFORE the first day of test while seats are available. You take your test in a CASA
Testing Center.

If you miss your scheduled test, then check the scheduler to see if there are other available
times and if you can reschedule it. Your instructor does not control the scheduler, cannot
add test slots, and/or reschedule your test — make sure you do not miss your reserved time.

FAQ

v' What s covered on the test? 6.3 Chapter 7, Vectors, Chapter 8

v" How many questions are there? About 20 Multiple-choice questions to be
completed in 60 minutes.

v" What calculator can I use on exams? No calculators or other software are allowed
on exams - study accordingly.

v' Will there be a formula sheet provided? No, not on Test 4. You canNOT have a
copy of a unit circle while taking the test - make sure you KNOW YOUR UNIT
CIRCLE!

v" How do I study for the best result?

1. Begin with this review. SOLVE a blank copy of this review after it is discussed in
class!
This review should not be your only source while studying for the exam. It
covers most of the “skills” you should be practicing, but it is not intended to be
the only source.

2. Take Practice Test 4 BEFORE your test! It is for practice AND extra credit. 5% of
your best score will be added to your Test 4 score. Retake Practice Test 4
several times to strengthen your skills.

3. Review online quizzes and homework.
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6.>

1. Solve the following equation over the interval [0, 27): ohe P@‘OA
R
2sin(x) —3=-4

A3 43
/, T/é ="
- 2 an(x)=-A
sn(x) = ’—'%_
T Vv
™ | WE K= -3—2— x= —=
6 b

2. Solve the following equation over the interval [0,27): OW ?El'.‘OA

8cos(x)—5=-1
T/b S A4S

|
cos = =
5T ®=F-=
‘ > _I - B
-3 =S
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Ir
kSW\ (Bx" Cb ‘\'b Pe&ﬁo:\ = —B ? -E=-W
3. Solve the following equation over the interval [0, 7) : onh\= ?er \OA
4sin(2x) = 2V2
sin (2.% =

>
Sm (2 ’b %

_T - =20
ZX—A 2% 4
::l‘: X=£|T
*=3 R

. - 4 T . s
4. Solve the following equation over the interval [0, 5) : Ohe Y&‘ t OA
6 sin(4x) = —3V3

Wrerb:l

)
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5. Solve the following equation over the interval [0, %) : ON Pe"i DA

8sin?(4x)—1=1
*U o«

2 ant(4x) = 2
N =2 =
ar\z (‘hb -

D~

@ sh(AD= % ® en(i)="%
_qw = A¥
4x=lbor- 4’(:% 4%-%°(Ax 6
- uw
x = JL, = =M x = L o X =33
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6. How many solutions are there to the following equations? (Hint: You can answer

this without solving the equations!)

a) 4sin(x) = 5 over the interval [0, 2m).

sin®=%‘ >A

O soluwhions

b) 5sin(x) = —1 over the interval [0, 27).

sin ()h = “As—

2 so\u:\'iom

c) 5cos(x) + 1 = 4 over the interval [0, 2m).

~\ =1
5(‘,05()b= >
cob(x>=é5

2 Solu'l"cokb

d) 2cos(x) + 2 = 0 over the interval [0, 2m).

2can () = -2
ces (X) = -4

y N

N
£
w
2]

"
A
w
]

&. SO[Q ‘l":Ol\.
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e) 2cos(x) + 4 = 4 over the interval [0, 27).

2eax(D=0 (D=0 2 so\u‘\{ot\b

f) 2cos?(x) + 1 = 2 over the interval [0, 27) .
'Z.CAD"(X>=‘ con X =—\—=§~
oo (O =-\¥L— 4 oo\utionn
2 tax=-%2
| =
g) 2cos + 1 = 2 over the interval [0, 27). ?CP‘OA Q’g cap (2%
T _ 2%
oD (?-b = ‘\_‘ === )
8 salution
h) 4sin?(5x) i?2-=-3?iver the interval [0, 27). N %;“ b‘} = -\i
Aand(5%) = 4 B (é.’b =2 2 ol.
(@O =% wn® =%
220\

(%‘m"’ (5@ 3‘&?
20 So\u‘\'\'om

7. The angle of elevation to the top of a flag pole from a point on the ground 40 feet
from the base of the pole is 52°. Find the height of the flagpole.

a) 40sin(52") - ——
b) 40 cos(52°) Yan (529) = 40

) 40sec(52")
wanG2) = 404an (52D

e) 40cot(52°)




8. Inaright triangle ABC with right angle C, angle A measures 15°. If the hypotenuse is
20 units long, find the lengths of the legs AC and BC.

o0 P (B = 35
1s° :é x=20coe» C\3>
'y x
sin (\‘3’> =3

=20

3 = 20 @n (\5‘"}

9. Find the area of triangle CAT if mzA = 120°, ¢ = 6,t = 20.

y A= -\z-_s'«Ae . side - win (&)
20 eo & 2
>< . = %./6(20- sin (o)
C
w [
- 66 %:m

Qg
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10. In triangle ABC, mzA = 45°, m«B = 30" and AC = 6. Find the length of BC.

. c LAW of STNBES
*K Y X 6
'k e b SN 43 6“300

% SN = 6Bn4E
xo - -6%

x = 6\

11.In triangle ABC, m£A = 60°, m«B = 45’ and BC = 10. Find the length of AC.

Y % _ ~\o

>, N . °
<sn 48 Sn &D

X %sn 60° = \O WnAS

x5 . 102
> -

x{> = 1OV

x = i=.= _|[wole
= 3 =
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12.In triangle ABC, mzA = 60°, AB = 10 and AC = 5. Find the length of BC.

(Hint: U§é LOC) Shkse — LOC
= 107+ 5% — 2 (D) can (66)

x* = 100 +28 - 60 &

(x*=(1s
x= {8 = (52 = &8 .15 =S\
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13.In triangle ABC, mzA = 30°, AB = 4 and AC = 6. Find the length of BC.

(g: USE LOC) SAQ — LOC_
A Z = 62+ A= 2(6)(4) co28)
C
A = 6+ \6—%24'€
X =

R—é‘=\52 - 24

x = \52-24& = {4(e-6 ~1A\>-6E
=2\ \»- 6
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) ->

V=alab]

“ Q“ = \a:-'\' b’-

[

14.Letdu =471+ 3jand v =7— 2]

a) Find magnitude of vector .
Nwh=\4>+ 2> = 5
(7= \e+=15

b) Find the vector 51 — 2v

= <4,2> S0 = £.20,\8>
7= < (2> 2V=<2-4>

- -7 ~>
Sa -2V = 8¢ -HQS
15.Letu = (2,—1)and v = (5, 3).

a) Find the vector 21 + 10v.

£2 - _\_z'u’ = Z4,-2>
= <8,x>

Fe
a; - S4 ?*2-2 d
v IOV = < SD, 30>
LS4 28>
b) Find the dot product of these vectors: i - ¥

P—— X

Page 11 of 19



CHAPTER 8
Know:

e How to identify conic sections.

e How to complete the square to get the center or vertices.

e C(ircles: center, radius, how to graph.

o Ellipses: center, vertices, 4 key points, how to graph.

e Parabolas: vertex, how to graph.

e Hyperbola: how to identify them.

e System: how to solve systems (algebraically or finding the number of solutions
graphically)

16. Classify the following:

Choices: Circle, ellipse, hyperbola, parabola, none of the above.

(x —45)2 U J;l)z _q kd?e.rLo\q

09,050 ollipee

4 16

2%
'S

(x—5)2+ (y + 4)? = 20 circle
r=0o =\as-=2\8
(y+1)% = 8(x +2) t‘&\\"?

?MQLo\as
(x+1?%=-4(y+2) éowr\

z _, ‘\QN‘&D\\'\Q\

x* = vert cal (:r x! b‘>
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17. Write the equation of a circle with radius 4 and center (-1, 2).

Cx- ‘\51 A (3- k):. =7+
(x+D + (\‘S—ZY= |6

" C& 2 ‘Dz
’ 2.) - ( =\ 6
18. Find the center and radius of the following circle:

-\ = 35 (%",(33224

x2+y2=8x+4y+11=0

(8% +leD + (Yedy +AD =-sa+lb+ 4

(x-8 + [4e2>* = q

carter : (4,— 2)
radius * (& = 3

19. Write the following conic section in standard form; identify it and find the center.

4x% 4+ 25y% —=16x + 50y —59 =0

(‘\X"—\ex) “~ (2531-\ SD\\P = 859
2_ < = 8 +l6+28
lg(x Z4x +4) *25(* 42y 4D = 59

ﬂf-zbz-\- ‘2_5—(A -\-Bz= \00

\0O \oO 100

-2 (é“bl =3 e\lipse
25 4 canter (2_‘-5.)
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N2
20. State the vertices of the following ellipses:
| >,
: Ny Ny
= V .

x2+
9

8IS

(0.1} % (Os_7>

=1

b)

Q (-2,0) 2 (8.0)
~ 3
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21. How many solutions does the following system have?

\mraLo\q

X
O‘%
4 10

Sra.‘)‘\ (.

ine —p y=-x+1
— x=y?

2 Sb\uJﬁOC\b

22.Find the point(s) of intersection:

—_— 4x? + 7y? = 23
3x2—y2—11>"
N Ax*+ Ty = 23
> x* - = 11

x= =2

(2D 4« (2\"5&

)~y =\l =X4
3(2) l \ \\\
(2,4) 2L
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cmf‘ex- '.(2 = L)

23. Which of the following is the graph of this conic section?
= ->
(x—2)* (y+1? =

4 * 9 1 *
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canter: (—\,\\

1 G- 4=
6 1 -

24. Which of the following is the graph of this conic section?

:
X

3 2 hiH-o
1
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X | S" — \mv\mw\a\
o \[u-\-:.ca\

Veriex - (2, D

2
K\
25. Which of the following is the graph of this conic section? (y — 1)? = 8(x + 2)

K

R \\or\'aon‘\a\
v ‘Qk\-
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‘\oriwm“d 3 le’Q"

\ler'\eb( . (5-\"5-\

26. Which of the following is the graph of this conic section? (y + 1) = —12(x — 1)

X

(1,

-1)
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